
Multiply by Negative Powers of Ten (F)Find each product.
2.512 × 10⁻³ = 8.7 × 10⁻³ =
4.717 × 10⁻¹ = 4.728 × 10⁻³ =
6.4 × 10⁻¹ = 2.756 × 10⁻² =
0.581 × 10⁻³ = 2.3 × 10⁻¹ =
1.336 × 10⁻² = 8.24 × 10⁻² =
9.155 × 10⁻³ = 6.58 × 10⁻¹ =
7.8611 × 10⁻¹ = 1.6 × 10⁻¹ =
8.183 × 10⁻³ = 1.37 × 10⁻³ =
6.947 × 10⁻³ = 7.0994 × 10⁻² =
5.8 × 10⁻³ = 1.54 × 10⁻¹ =
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Multiply by Negative Powers of Ten (F) AnswersFind each product.
2.512 × 10⁻³ = 0.002512 8.7 × 10⁻³ = 0.0087
4.717 × 10⁻¹ = 0.4717 4.728 × 10⁻³ = 0.004728
6.4 × 10⁻¹ = 0.64 2.756 × 10⁻² = 0.02756
0.581 × 10⁻³ = 0.000581 2.3 × 10⁻¹ = 0.23
1.336 × 10⁻² = 0.01336 8.24 × 10⁻² = 0.0824
9.155 × 10⁻³ = 0.009155 6.58 × 10⁻¹ = 0.658
7.8611 × 10⁻¹ = 0.78611 1.6 × 10⁻¹ = 0.16
8.183 × 10⁻³ = 0.008183 1.37 × 10⁻³ = 0.00137
6.947 × 10⁻³ = 0.006947 7.0994 × 10⁻² = 0.070994
5.8 × 10⁻³ = 0.0058 1.54 × 10⁻¹ = 0.154
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